
� ����� �	
��
�� ���	� ����� ����� �� ������� !

�� �� ����	
 �� ����	
�
 ����� �� ��� ��
���� ����� ������
����  �� !�" MeV #$%&'

����
 �����(
��������	
�� 
��� 	
�� ���� � 
��� �������� ��������� ���� ��� � ��!"�# ��� �
�� $���%&'(–*+',- ����.�

��/ ��
�0� 1�� :hnoshad@aeoi.org.ir

)�#�$%�&� '��:!/ / ) *+,- '����# �.���-:/�/�// )(

�)�*+
 3"�  ��.���U4'& ��. ����� �5 67 �77 �87� MeV 89     �:5 1���:; <=�>:?! "� ��:; @/�A ��!�A ��.B/C � �; ��D�E�5 F��� ��G���� ���� �H �������/# �����5�
; 

  I�DJ/C   	5 �!�A ������� �D��  �!K 1#H .  �D�� 
�M N�"�� OP#�"�� � ��� � �� DH 1���; @G NQR! SQ# � 1���; ����; ��/A ."�� � 	5 T��!"K F�� 1UH�  	:G H�5 ���G 
�H�H ���
5	5 � ��/�C� @5�U � V/UH ���HD�K 1#H .�! ���  @%�W �5�X� Y��
  T�G�� DH 	G ���H(p, f )UZ[\5 ���MeV 87Ep >�! ]B0^
�M N�"�� DH �D�R
!�    F/:5 "� 

�!	5 �D�R
! 1���; � H�D�! ���_ `0�a �! <D�%H�;.

*,���(!-. �+!: b/ �D�� �
�M N�"��Z[\ �1���; NQR! SQ# ��D�R
!�  1���; ��D�R
! 1���; ���. ����� MeV 89c67

0. �
+�

 �11��� 23114 ��11�5 5��$6,11� '��711�  �# 8�9:;: ��<=4�11> 

?5��-�             #�<1� ?��<1�� '��71� @1A&� BAC � D�� @�5<> 8��E

  $6,� ��-��7�
�� $�<>  'C� ?#<� 8� .     8��G� 5<=� �#<�� H�� ��

  ?��� D�� @�5<>   'C� ?�3- IJ '��7� 8�� .   ��1K�# L��1MN $�

    $1� 5<=� ?�=��7� $6,� .K6+�K-��� 8O�-� $� @�5<> H�� .K6,�

 'C� ?�3- P�# .6C�# .G%�A��?��� D�� @�5<>    �'��71� 8�1�

 ?�-5�� L�NQR�     $6,1� ��6S�C ?��� �# 8�     .1� $1T��� �1�   � �11�#

.11� �11� ���111&6� '��1117� $11=���# 8�111�G� 8<K+11C�� �11-�<>

  $16,1� ���11&6��-  �11��� �1� .  ���11�=�64� �#)9U;< Z < V:(�

  $� D�� @�5<>  'C� ���&6��- W<X�]�[      $6,1� 8��1� .1%�   8�1�

�MC  �>)������=�64��(      .� ���&6� 8#��5 .	�S �J �>   #<�]/[�

$�8�<R  $4   YQ�N ���&6��- '��7� Z�C  'C� 
�[�-  .    �1=[ �1�

  $6,� H�� �# $4$6C<� L��\� �� �-��# �&- D�� @�5<> �# 
�- 8�

]� [ .6,� �# $4 'C� .%�J �# H��� ]4�� Ra//!  D�1� @�5<> 

?���       .E�1�^�� $1C 8���# '��71� 8��    '1C� ]_[ .  $-�6+M1�<S

 .��K=� ?��<��  6,1� .K6+�K-��� 8O�-� $4�   ���
1�� ?�=��71� 

.�  $6C<� L��\� �����     .� H�� 5� `���> $� 8�     D�1� @�5<> � �-��

     .� I�� ���&6� @�5<> '�C $� �1=4 .      .1� L�<1a H1�� �#  ��<1>

   $6,� H�=[ '��7� 8���E���       .C��� @��� ?�Ab c�� �� �� .���

  #<�-])[ . R 5�   ?5��-� �� ��K�# .��     '��7� I4 @A&� BAC 8��E

.�        '��71� �C d�e>�� � '��7� c��6J� �=-�� .����6����� ��<>

$6,�$� 
�- �� ?�=��7� 8�� #��^ 'C#]! [.

    �����5^ H�� �# ��1���  8U/�    -<>��� �1�  �1�  ?#��1f� �# 8

 8O�-�MeV!gh_)�-�� ����M��  .6,� ��=4�� H���  ]14�� 

?�=��7�*Np/�g   .1K6+�K-��� 8O�1-� �� �� MeV�/ijh�/)k

$� .� #<��#��^ .  2�R �� lmC        BA1C ��1��E 8�1�<>�� 8��1K-

         � D�� @�5<> .=f=� �'��7� ?��� �� #�
�� 8��� '��7� @A&�



 ������� 	
��
 �� ��
�� 
��
�� �

       $� 8O�-� �� �# '��7� I4 @A&� BAC ��^ 'C# .   D�1
-� 'b#

  $� ����5^ H��       '��7� 5� �nE ��<6� $4 #<� .��4 �J   ���1&6��- 

#<�- ?���3� �� ���&6� '��7� $�.

� .2��3� 4��
         @�5<> �'��7� Lo<pf� I�73> @A&� BAC �����5^ H�� �#

   '��7� I4 @A&� BAC � D��U/� -<>��� ��  �1�8_) �)) �!)

�MeV !g2�R q�� ��?5��-� ���E 8��<>�� 8��K- ?�� 8��E

'C� .             <1�#�� � ���><	7�1C 
14�� �# ����1� H1��  r<1>�
��

(CYRIC)           .�6-^<14 D<1	N � 8O�1-� .C�=�� ?�73-�# (QSE)

'C� ?�� D�
-� H��O 8<4<�<> ?�K3-�#.

    P5�- s�� ���[U/�         '��+1X �1� �� �� /cm/gµ�kk

           Z�=��<1%^ ��,14� 5� .45�1- $�o 8�� ��)�O/(Al  $1�   '��+1X

mµ�k ?�� ?�-�3-#<� .   ��1� 5� �1� �1� '��+X��  �5� �1� 

  -^ t�b# �#�4��  H��� �  2�R �� �<R    � l17�� 8�1�<>�� .
=1C

 $� �e%^ ��^ 'C# .           ��1�[ 5� .	�,1E 8�1e%^ 8�1�<>�� q���� ��

        ��� '��+X �#<� 'S�<=7� �Z�-���� s�� �� 8��� $A&-��   �1� 

  8�AS� %      '1��E ���1b �1���> #�<� .       ���1� 5� 8��E<1	� 8��1�

?��� 7� 8��             5� P5�1- �11%<� �# H�1� Z�1-���� s�� �� �'��1

Z�	��� l=�$� '��1+Xmµ�kk  '1��# ���1b .7%<� 5� �1� 8

   $� .��=��<%^ � .,�6��+X��    H�1� 8�kk    .1%� mµ)kk   
1�- 

$�  7���� 8O�-� ���4 �<v=��      � ��1v- #�<1� ���1&� $1� �<1>��� 

H��� ��� �<R ?5��-� 8  7���� L�� 8��E�     ���5 L�� �# �<>��� 

  �� ?#�e6C� ����5^ . ��� $N<�
���  7%<� �Z�-���� 8��  �Z�	��� 8

       ]14�� s�1� �� Z�=��<%^ � l�9       '��+1X $1� �� mm///!

.� I�73>#�# .7���� 8O�-�� 8#��� �<>���  MeV�k   $14 #<1� 

   7%<� 5� �<MN �#��    �O�-� $� .��=��<%^ � .,� 8 �1� 8!g �!) �))

  �MeV_)    ��� �� #�<S�� �# ��      .1� ���14 Z11�-���� 8 '1��� .

 7���� �Ab�   �<>��� mm�h!    ����M�� ���5 ��k   H�K-��� �$&�b# 

   $7���� �����Aµ�// k       �# ?�1� @1�� .17��67%� ��1� I4 � 

  Y�M��&> r�4 8#����Cµ�/kk #<�  .  e�R 'M\ 8��� 1��   8�1��E 8

  ��� 5� Ia�J��   7%<� � Z�-���� 8��        �# 5� .��=��<1%^ � .,1� 8

____________________________________________
. � Stack target

  ?�K6C# �1C��7�^5O       w%�1S x<1� Z�-�1��(HPGe)     L��1b �1� 

 �1111�7e>(FWHM)keV /� 8O�1111-� �# keV���/ � � �#

�K	�	f>    $%�-�4 �=[ (MCA)   �� _kg!   �� ?#�e6C� c�-�4  .  $	1a��

 $-<�- H��   $� ��5�C��7�^ � ��$-<E ��6S� 8�       ��1�5 $14 #<� ?�� �

  5� ��5�C��7�^ ?#���k %.�- 5��
>#�4 .   '1M\ 8��1� D5o ���5

e�R�11�#<11� 5�� H��11=[ �11> $11&�b# �11� 5� 
11�- �11��E 8 . 8��11�

 $�311[ 5� 
11�- ��5�11C��7�^ 8O�11-� �<�1C��M�%�4$11A&- 8�11� 8�

 #���-�6C�Eu�)/ � Am/_��� ?#�e6C�  .

5 .67�8
9:;�
 <;7 
���> -<�- .�#�   �� N  �Z>�N'      A��� t��A� �� <�64�<�#�� Z>�  �  ��5 

.� ��%<>�=4.

RNqN
dt

dN
+−= '

'
λ , )�               (

    �^ �# $4λ           ],1J �1� .1����� '1��\  �hs    '1��4 �R  #��1G> 

3=4����           ],1J �� .7��67%� ��� H%<4 �� 8�5� $� ?�� #�
�� 8
�hC   � q        '1C� �1m�^ ],J �� $7���� �����  .  �#° =t    Z1���#  

° =N'�'��# Z���<S l�  :

))exp(1()(' tRNqtN λ
λ

−−= )/                      (.

  ����M�� ���5 �E�ti    $6,� #��G> �����          �1�%<> <1�64� <1�#�� 8�1�

 ����M�� ����� �# ?��)N'i(�� 'C� ����� :

))exp(1('
i

tRNq
i

N λ
λ

−−= )�                                     (.

          ����1M�� ��1��� �# <1�64�<�#�� $-<�- '�%�G�)'
i

N
i

A λ=(   �1���� 

�� 'C�:

))exp(1(
i

tRNq
i

A λ−−= )_                          (.

          $1� ��1�5 ],J �� $-<�- '�%�G� �����M�� 5� l� L�<1a   �1�5 

.� ���4����:

))(,)exp())exp(1()exp()( t
i

tRNqt
i

AtA λλλ −−−=−=

  �^ �# $4t > ti'C�   . 1	b ��5 w%�S q�����  �1��67%�<><� 

)c(�� 'C� ����� :

))exp(1)(

exp())exp(1()(

mtct

i
t

mtct

ct

RNqdttAc

λλ

λ
λ

εγεγ

−−

−−−∫
+

==
)!      (



� �� 
� �
���� �� �
������ ����
  � 
!" ����
�� ����
 #$%&'(��)�*+ �� ,�- MeV .�/01  ������� 	
��
 �2

    �^ �# $4ε     �5�1C��7�^ .�^��4 γ    $S�1� 'M,1-   �8�tc  1�5  ��

    � ��� #�Ctm?5��-� ���5 'C� 2�R 8��E . �E�s  �^ 'J�,1� 

            ?�1K-^ �'C� �<>��� ���> |�G� �# $4 ���� s�� 5� '�,b

 �� 'C� ����� �=4�� @A&� BAC]� [:

))exp(1(
i

tNI

s
i

t
i

A

λ
σ

−−
= , )�                                         (

    �^ �# $4I   -<>��� I4 #��G> ��     c<R �# $7���� 8   ����1M�� L��

'C� .   sn1J �1�)exp(
i

tλ−  >��MN �#  �1�  8)_ (  �)� (  Z���<1S

'��#:

IsN
i

tRNq

NI

s
i

tRNq )()(
==σ , )                                       (

 �^ �# $4
s
N

sN =�>� #��G>  �1�  �# s�1� 8/ cm� '1C�  .  �1�

 snJRNq L��MN �# �# )! ( �)  (Z���#:

))exp(1)(exp())exp(1( mtcti
tsIN

i
ct

λλλεγ

λ
σ

−−−−−
= )g(.

& .*��� =�>�
? � @�67�8
2��3� !�(
     ]14�� $6,1� .1K6+�K-��� 8O�1-� ��=14�� H�� �#) Eex( $1� 

$� ��5 L�<a'C#.� ��^:

'��7�→→+ *NpUp 239238

pEQexE += , )�k                                                  (

�^ �# $4QA��� tMR � 'C� �=4�� $� }<��� ���&� � ��5 
2)( cmmmQ

NpUp −+= , )��                                   (

 �11����MeV�/)$11� .11� '11C#�11�^ . 8O�11-� ��=114�� H11�� �#

6,� .K6+�K-����?�=��7� ]4�� *Np/�g ��#�&� �/)k ��/!k �

�/�k � �/�_.� ���6S� �� '%� ���67%� �K� �=4.

          �1v- �# �1� '��71� Lo<pf� 5� 8#��G> �����5^ H�� �#

 	b H6��E�          $S�1� 'M,1- ��1�N $1��- �]C�=� ���67%�<><�  �8�

      ?5��-� ���5 � $-<�- ��� #�C ���5  $� 2�R 8��E   �1�^ '1C# .

$�          21�R .-��<m�� � ?�� #�
�� ~'��7� Lo<pf� d<=> '	N

   -^ 5� .	�,E 8���E �1�      �71� Lo<p1f� .��1C�=� �  Yo<1�G� '�

 'b�R 8��4          '1C� 8#�1�5 '1b� s�1a D
	6,� � �C�� . H��1�

             $S�1� 'M,1- � �1�N $��- t�b# ��#�&� 5� 'C� D5o ��<v=� 8�

  #<11� ?#�e611C� '��711� Lo<p11f� .6��4 H11���11� ��1164 5� 

" �<>�
�� c����� "] [ $�  ?��^ 'C#�-� .    'fa 5� ��=��R� 8���

      �C�=� �'��7� Lo<pf� 5� �� �� w�+3> -^ .��� $� 	�C��

      -��5 �# $4 ���E 2�R 8#��G> I�	f>��      �#<1� ?�� 'M\ .%�<6� 8

       -^ ��N $��- H6��E �v- �# �� ���    �1� D�1
-�  .     H1�� �8#��<1� �#

                 8��1� �1��67%�<><� $1	b �1=[ �1� �# ��1�
�� I1�	f> �� I�N

   �O�-� �� ~'��7� Lo<pf���   '1��E L�<1a �Z� $� ��#
- 8 .

      8#��<� �# �#<�� H�� ��     ����
�� '��7� Lo<pf� 
�-)  #�N ��

��,7� .��� ($���^ 'C# .

$�8�<R  A��� 5� $4�)g(  .� ?��#     BAC $MC�f� 8��� �#<�

           ��1��� �1��� '��71� Lo<p1f� H�� 5� �� �� I�73> @A&�

    ��� �# �� �<>��� $7������        -<>��� I14 #��1G> �� � Z�-���� 8 �1�

)I( 611��# ����11M�� ��11�5 L�11� �# ��Z�11��� $ . �<11v=� H��11�

@11�� 5�  7%<� 5� I11a�J 8�11��E 211�R 8��^�11� � .,11� 8

 311=14�� � .��=��<11%^�� �111=��<16�-<� 8Na//)p,x (Al/�� 

Co)!x) natCu(p, �1111111� ?#�1111111e6C� ]g[. �=11111114�� �# 

Na//)p, x(Al/�6,� ��Na// ��N $��- �� !k///   .1R �c�1C 

      $6,� $� ����67%� 85��-���E �=����Ne//       I��1M> $1��� '%�J �# 

.�     8O�1-� �1� 8�1��E � #<1� keV)/�/�_  $S�1� 'M,1- �  8�

g_/gg % .� I�,E�=4 .    �=14�� �#Co)!x) natCu(p,   $6,1� 
1�- 

Co)!     6,� $� ����67%� 85��-���E �� �Fe)!     I��1M> $��� '%�J �# 

.11��111�N $111��- �11� � #<11��/�� �11� 8�111��E 8�111�<>�� 5�� 

�O�-���  8keV / _!  � keV�/�/�  6M,1- � �� $S�1� 8 $1� 8�

  ]�>�>g/gg %  �!� %   .1� I�,1E �1=4 .    8��1� ����1�5^ H1�� �#

?5��-�      7%<� �1C<> �<>��� $7���� ����� 8��E �1�    � Z�=��<1%^ 8

 $� �l��O�-� 5� ]�>�>�� 8keV)/�/�_ � keV / _!  ?#�e61C� 

�� . '��4IA��� t��A� �)g($� $� ��5 L�<a.� 'C#��^:

))exp(1)(exp())exp(1( mtcti
tsN

i
ct

I
λλλεγσ

λ

−−−−−
= )�/   (

     8���6����� �^ �# $4λ  �c  �ε  �γ  �σ   � Ns      �1� ���1=6� ��#�&� 

      e�R 5� � �=6,� l� �� � Z�=��<%^��-^ 5� ?�� I�,E 8���E 8 �1�

$� .� 'C#�=�^ .  '��4ε     7%<� H�1� 2	6+� Ia�<� 8���  �1� � 

   -^ .C�=� #�G�� ���5�C��7�^��          5� ?�1� I�,1E 8�1��E 8O�-� � 



 ������� 	
��
 �� ��
�� 
��
�� 23

4�
2.            8��1� w%�1S x<1� Z�-�1��O 8��5�C��7�^ 5� .7� .����4

         $	a�� �# Z�-���� s�� 5� .	�,E 8���E 8��<>��cm�   5�C��7�^ 5� 

) Z� 5�C��7�^ � $-<�-�=6,� 85�<� � �<f�.(

-^��) keV)/�/�_     � Z�=��<%^ 8��� keV / _!  l� 8��� (   �1� �

  ��-�� 5� ?#�e6C��   8�><�m��4 EGS4   �1� $MC�f�  . $1�   �?�Q1Nε

 ��� 8�����   $1� 8O�1-� 5� .G��1> L�<a $� 
�- Z�-���� 8  '1C#

��^ .I7��       5�1C��7�^ H1�� 5� .7� .����4 ��   ��     s�1� 8��1�

 $	11a�� �# Z�11-����cm�.11� ��311- 5�11C��7�^ 5� �11�# . 8��11�

?5��-�     �<>��� $7���� ����� 8��E)I(     �=4�� @A&� BAC �)σ(

3111111111=4�� �#�� �111111111=��<6�-<� 8Na//)p,x (Al/� � 

Co)!x) natCu(p,  $� 
�-   ?#�# 5� ]�>�>       �# #<1�<� .1��
> 8�1�

  @�����k   � �� $�  ��^ 'C# .�=f=���   .��
> 8σ $�   L�<1a

        .1� �� 8#��1� �<>��� 8O�-� 5� .G��>    @1��� �# ��<1>]g[  
1�- 

'��� .          -<>��� #��1G> H�K-�1�� ����1�5^ H�� �# �$
�6- �# �1�  �# 

  L���k           5� ?�11� I1�,E 8���1E 2�R I�	f> �� ����M�� $&�b# 

7%<���    $� .��=��<%^ � .,� 8>�>   ����� ]��k�) * ��/)  ��k�) * 

k//) ��k�) * !_/_ � �k�) * /�/_�O�-� �#  �11� 8!g �!) �))

� MeV_)$11� �11�^ '11C# . H11�� �# I11a�J 8�11AS H�K-�11��

?5��11-� #��11J 8�11�E_ %#<11� .  I�7311> @11A&� BA11C lm11C

         1A��� H6��1E �1v- �# �� '��7� Lo<pf��)g(  �O�-� �#  �1� 8

 $� �<4n� ��^ 'C# . �
> ��#�&� $� .� �=f=� ?���� �1�   q5��1� 8

  -^ $� ?����   �# 	7���  8/  ��  �_   � )   ?�� ?#�# ����-  �1-� . H1��

  4�
6 .          .��1&%� '��71� �=4�� �# '��7� Lo<pf� D�� @�5<>

 Z�-����/�  8��-<>��� �� MeV_).

  4�
7 .       �71� �=4�� �# '��7� Lo<pf� D�� @�5<>   .��1&%� '�

 Z�-����/� -<>��� ��  8��MeV)). 

	7���             '��71� Lo<p1f� D�1� @1�5<> �K-�1���- '&�&J �# 

  Z�-����/�    #��f� H�� �# �  �=6,� 8O�-�  .  ?5��1-� ��#�&�  8�1�E

     '��71� I14 @1A&� BAC 8��� ?��U/�    � ����1�5^ H1�� �# 

H���   ?#�# 5� .S�� �<R  $%�&� �# #<�<� .��
> 8�� ���K�# 8��

  �#c����  �# ��3-    ?�� ?# '1C� .     Y�1M��&> ���1&� H1��    � '1��\ 

 ����� mb�gkk ~ 'C� .      H1�� �# ?�1� #�1
�� 8�1AS H�K-�1��

?5��-� #��J 8��E   %#<�    .
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  4�
0 .        .��&%� '��7� �=4�� �# '��7� Lo<pf� D�� @�5<>

 Z�-����/�  8��-<>��� �� MeV!). 

  4�
1 .   7� Lo<pf� D�� @�5<>     .��&%� '��7� �=4�� �# '��

 Z�-����/�  8��-<>��� �� MeV!g. 

 @���2 .'��7� I4 @A&� BAC Z�-���� /� �<>��� �� .

 �<>��� 8O�-�(MeV) '��7� I4 @A&� BAC(mb)@���

�k/kk~]�/[

�)�kk~] �� [

/k��kk~]�/[

�k� kk~] �_ [

_)20� ± 2�0�)#;�� 9 B;�(

))212 ±2��C)#;�� 9 B;�(

!)2.3 ± 2��C)#;�� 9 B;�(

!g216 ± 2�31)#;�� 9 B;�(

�k� kk~] �_ [

�kk� kk~] �_ [

��k� kk~] �) [

' .�3�	
 � A8�!���
       ?��1� D�1� @�5<> �.	4 '%�J �#    �1� �# 8���# '��71� 8�1�

   'C� ���&6��- � ���&6� . .� H�����=�        �� D�1� @1�5<> ��<1> $1�

          '1��E �v- �# $-�E��� ~.C��E .=f=� $C 5� .M�4�> L�<a .

     ?��� �� ���=6� �8��=4 .=f=� �#       ~H�K=1C � �M1C '��7� 8��

            L��1\� �#<1� ]%�� � �=6,� ���&6��- '��7� �# ?�� I�73>

$6C<� .� ��3- �� 8�.%�J �# ��=�#  �1� ���=6� �.-��� .=f=� $4
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          @1�5<> Q�N � 'C� 
�[�- .-��� .=f=� Z�C �Z4 .K6+�K-���

 ?��� D��         8��1=4 .1C��E .1=f=� �# 5� .1M�4�> �'��7� 8��

)  $-��<4 �# .=f=� L�<a $� (   �1� ���1=6� Z� �^ � #<� ���<S

    '1C� ���1&6��- '��7� .  $6,1� �#   �=��71� 8�1��     8O�1-� �1� 

    YQ�N D�� @�5<> �#��5 .K6+�K-��� f>  > '�     .-�1�� .1=f=� ��\

 .� ���b              ���1� ]1%�� �1� L�<1a $1� ���&6� '��7� � #��E

.�#<� .                  �<1R $1� .1=f=� $1C H1�� 5� �1� �1� �c�� H�� �#

     .� $6��E �v- �# .C��E $-�E����-<� .    1-��<4 �# .=f=� �#�

  ?��� D�� @�5<>    ���<4 �'��7� 8��)$	b (  ?��� $� }<���  8�1�

     .� .>�<a �# �� H�K=C ~'��7�      '1��E �v- �# .C��E ��<>

  #���-�61C� s��f-� H�� $4)σ (   ],1J �1� �^ amu  8O�1-� �

  6,1� .K6+�K-����      ?�=��71� ]14�� )Eex (     ],1J �1�MeV

A���� ���� ���b�� ��5 .��
> ]�! [:

)��.                          ()ex(Eσ 0/14235/010622 −=−

 8���MeV_)Ep =� 8O�1-�   16,1� .K116+�K-��� � ?�=��117� 
*Np/�g �1111���� MeV�/)k'1111C�  .1111A��� 5����Z1111���#  :

amu)/g=σ .'��# Z���<S H�����=�:

)�_          (amuσσLn 3223552222 /=/==FWHM

      I7� 5� �����5^ H�� �#/   ���&� �FWHM  	b 8��� �    $1� }<��� 

?���   # �H�K=C '��7� 8��        Z�1-���� '��71� �=14�� �/�    �1� 

-<>�����  8MeV_)     �� ����� �M��&> �amu/� $�   .1� 'C# �1�^ .

       A��� 5� ?�� $MC�f� ���&� �� ���&� H���    .1��
> )��(    $1A��� � 

)�_($� 'C� ��E5�C .�<S .  �=14�� �# H�����=�U(p, f)/�   �1� 

-<>�����  8MeV_)	b t��A> ��   ?��1� $1� }<1���    '��71� 8�1�

=C  �=�# ��3- �.C��E .=f=� �� H�K� $61C<� L��\� #<��  �# 8�

  '11C� D�11� @11�5<> .11=f=� . 8��11�MeV!gEp = Z11���# 

MeV�/�_=Eex .  ��#�&�σ   � FWHM  A��� 5� �   .��
> )��(

 A��� ��)�_(     ����� ]�>�> $� amu_/�/   � amu///g $�   '1C#

.��=�^ .   ���&� �� ���&� H�� ?5��-�        I71� �# ?�1� 8��E)   .1=G� 

amu�kFWHM ≅#��# ���,� sQ6S�  .   '1	N $1� sQ6S� H��

   $6C<� L��\� ��� <f�      ���1&6� '��71� �1� ��1� ���1� � 8�

'C�.

   8��	7� �#) h/ ����        .1� ?���31� $14 $1-<E    �1� �#<1�

         'M,1- ���&6��- '��7� d<b� c��6J� ��<>��� 8O�-� ���
��

114 ���11&6� '��711� $11�.11� ����11��� .$11�8�<11R 8��11� $114

    ��1� 8O�1-� �1� 8�1�-<>���  5� �1> MeV!)� �� 1e%�  '��71� 

  .� <f� ���&6��-      .1C��E @1�5<> '�1C $� D�� @�5<> � #<�

 .� I���=4 .$�$-<E  .� $4 8�  6,� ��6�� ��<>�  �=��71� ]4�� �

Np/�g    5� �>o�1� .1K6+�K-��� 8�1��O�-� �# ��  MeV�/�k  �1� 

   @��1� ?�Ab c��    #<1�- .1C���  .         I14 @1A&� BA1C �.1��R 5�

Y�M��&> �8O�-� ?#��f� H�� �# '��7� �<>��� 8O�-� 5� I&6,� 

 'C� 8#��� .   ?#�# �� $
�6- H�� @��� �# ?�� $T��� .��
> 8��

��'C� ��E5�C 
�- .

2
���+B
  <11�#�� � ���><	7�11C 
114�� l�11T� �11��� ��<��11� �<,11���� 5�

    �H1��O 8<4<�<> ?�K3-�# r<>�
��        � .4<,1>�� D�1> �<,1���� 

.E�� .4<��C�� �64# �����73> $-����a.�Z=4.
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